


B (0 Sechoml.2
7)) (= (o T

%)m:é@@m'

Com  ~ CoB
(0=02)"> 4=2*
S a—_

27)

=[5+
= J1&9 :@

Math 9 Section 1.3 — Pythagorean Theorem
- Answers on Pg. 362

Homework: Section 1.3; 1-3 all, 67 even, 8-11
(Don’t use o coleulator for questions in #2 and #3)

From last classes, we know we can calculate square roots with our calculator, but
how do we estimate square roots if the number isn't a perfect square?
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From last classes, we know we can calculate square roots with our calculator, but
how do we estimate square roots if the number isn’t a perfect square?

Example: Estimate V14 without a calculator! Guﬁ%& :_, g.p 7
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1) between which two integers is the value of the square root?

2) which one is it closer to? | Z=12| 2% =/4 2.7 and 3.3
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How to solve for missing side of a right triangle / fl—ﬁ_
1) Label each side of the triangle with the Ietters é} ' C—« L€ - \Q/

2) Figure out which equation to use
3) Put in numbers and simplify the right-hand side
4) Don’t forget to 6:5 VAYE  yooT  atthe end!

Solve for the missing side exactly, then to one decimal place (if needed):
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